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Calculating Adjusted Age 
 
Determine the number of weeks the child was premature, based upon an expected gestation of 40 weeks. 
For example:  a child born at 28 weeks is 12 weeks premature (40-28 = 12). 
 
To calculate the child’s adjusted age subtract the number of weeks premature from the from the child’s chronological age. 
 
Example: 
 
Chronological Age 
 
Zach was born at 28 weeks on February 27, 2009. Today’s date is 3/16/10.  His chronological age is 1 year and 19 days or 12 
months and 19 days. 
 
      Month    Day     Year 
 3     16     10         (Take 30 days from the month column to give to days column to subtract.  16 + 30 = 46).  
        - 2    27     09          
          
       Month   Day   Year 

2     46    10 
       -  2     27    09 
        19      1 


